| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

0.05

Ratio

= b vean .
o1all. ________ ________ ________ ________ Loy s =

0.08;

0.06f

60181
2.887
1.399

Entries
Mean
Std Dev

59341
2.884
1.386

Entries
Mean
Std Dev

................................................................

.......................................................................

HO

o
©

LI L L L P = O O

_____ »0* ++++H s

o
o)

o

0.04

0.02

o

Rati

TRvA)

09551620 30 40 50 60 70 80

1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

0.1

o

o

a
|

- - - Entries
o : : | Mean
Std Dev

Entries
Mean
Std Dev

.......................................................................

Ratio
=
-’-l T T 17T

A—Illllllllllllll—ril } |

.....

1 é é A é é A
dE/dx, trunc40

=—=— DQM_CKF_XiMinusPU_base

—e— DQM_CKF_XiMinusPU_retrainOldFiles125_v2 prellmWPM epoch4

oSS UUIoTI

¢ | Entries
‘| Mean
i [ Std Dev

dE/dx number of measurements

0.25

01?

TS
| Mean
;.| Std Dev

| Entries
-------------------------------------------- Mean
. [ Std Dev

.....................................................................

.L\-Q._]:
5 il

1

Rati

0.95F{

o
.
.
-
o
o

0.9k

.................................................................

0
dE/dx n

10 20 30 40 50 60 70 80
umber of measurements with saturation



	Contents
	Page 1


